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• The electron affinity is negative if energy is released upon addition of an electron.  
If it is positive, the resultant anion is unstable.  Explain why beryllium has a positive 
electron affinity, while that of fluorine is highly negative. 
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Why is the ionisation potential of oxygen slightly smaller than nitrogen, despite being 
further across the period? 

 

 
 
 
 
 
 
 
 
 
 
 
 

 

How is this related to the slightly positive electron affinity of nitrogen?  

 
 
 
 
 
 
 
 
 
 
 
 

 

 


